
61-110 lbs 65”-85”

28-50 kg

800 x 500
100 x 100

-

VESA

COMPLIANT

For installation assistance or questions, please contact us 

at support@mount-it.com or (855) 925 5668.
 

MI-384L

INSTALLATION INSTRUCTIONS

DQATL1
DQ Atlas TV wall mountHeight Adjustable Fireplace TV Mount

https://manuals.plus/m/33ba9bf372df2605f43d974a4243ba5ed0e5b2a630f54c2150f5f5feb58dcaac


2

   The maximum temperature at the front of the fireplace mantle should never be  more 

   than 100°F (37.8°C). 

 The fireplace mantle should not extend more than 12”(304mm) from the mounting 

 surface.

 

 

 

This mount can support displays weighing between 61~110lbs(28~50kg).

The mounting surface should be a wood stud frame wall with studs spaced no more     

than 24”(609mm) apart ; The wall must  notexceed 5/8”(16mm) thick.

Ensure that the mounting surface is capable of supporting the combined weight of 

 the mount and any mounted display.

 This mount should only be installed by persons with  a basic knowledge of building

 construction and installations.

This bracket should only be installed by two people. Do not attempt to install it by 

 yourself.

If mounting to a wall of wood stud construction, ensure that mounting bolts are  

anchored in the center of the studs.  When installing the TV mount on a concrete 

wall, the wall must be at least 8.0" (203mm) thick with a minimum compressive 

strength from 2500 to 3000 psi (17.2 to 20.7 Mpa) and must meet the ASTM C39 

specification. When installing the TV mount on a cinder block wall, the cinder blocks  

must meet the ASTM C216 specifications and have a minimum nominal width of 8.0" 

(203mm). Be sure to mount it in a solid part of the block, generally 1" (25mm) 

minimum from the side of the block. Do not drill into mortar joints! If plaster/dry  

wall is thicker than 5/8" (16mm), custom fasteners must be supplied by the installer. 

Note that hardware and instructions are provided for installation to wood stud 

walls only.



PACKAGE CONTENTS

 
Mount your television conveniently above your fireplace using this Above Fireplace Mount.

It is capable of supporting televisions with VESA patterns from 100x100 and 800x500

and weighing between 61~110 lbs (28~50kg). The mount allows you to keep the

TV safely up  and out of the way when not in use, then you can pull it down to eye level

for comfortable  viewing.   

INTRODUCTION

FEATURES

Designed for flat screen televisions from 65" ~85" 

Supports televisions weighing between 61~110 lbs (28~50kg)

Supports VESA mounting patterns between 100x100 and 800x500

Designed to mount to wood stud frame wall above the fireplace mantle

Television can be pulled down to eye level for comfortable viewing

Full motion mount allows for ±30° swivel, ±5° rotation, and +10°/-5°tilt 

AA.

AA-1 X 2

X 1

X 1

X1

X 1

X 1

X 2

X1

X4

CC.

EE. HH.

GG. II.

FF.

BB.

DD.

X 2

3

Wall Plate VESA Bracket

Spring Arm VESA  Arms

Crossbar Pull Handle Safety Brackets

Pull Handle Template



x4 x4
E: φ16xφ6.2x1.5mm

φ16xφ8.2x1.5mm

D: M8 x25 mmB: M5 x 16 mm

x4
C: M6 x 16 mm

x4
A: M4 x 16 mm

x4

C1: M5 / M6

x5
C2: 5 mm

x8
G: M8 x 45 mm

wrench

x4 x1 x6
H: M8 x 65mm I: Concrete Anchor

x6

C3: M8 x 10 mm

x4
C4: M6 x 15 mm C4: M4 x 25 mm C4: M6

x5x2 x2 x2
6M :C5 C6: M6 x 8 mm

x8

x1 x1 x1 x1

F: M5 x 8 mm

x4

Bubble Level

4

REQUIRED TOOLS (Not Included)

You will need the following tools for installation

Stud Finder Pencil Protective Eyewear

Socket Wrench Thermometer1/2" SocketPhillips Screwdriver

Drill 3/8"or 3/16" Drill Bit

K: 5 mm L: 8 mm M: 8 mmJ: Arm Lock Pin



INSTALLATION CONSIDERATIONS

WARNING: Please read and follow these installation considerations before beginning the 

installation to ensure the wall mount is compatible with your mounting location and display.

1. The temperature at the front of the fireplace mantle must never exceed 100°F (38°C).

2. If mounting to studs, the studs must be spaced no more than 24” (609mm) apart.

These studs should be symmetrically positioned, or the installation will not be even.

The drywall must be no more than 5/8” thick.

 

≤12"
From 65”~85”

Weight:

61~110lbs

(28~50kg)

5

3.    The distance from  the mesa of the fireplace to the wall must be less than 12 ″(30.4cm). 

STUDS100°F Max



6

4. This fireplace TV mount is designed for larger

and heavier TVs. If your TV weighs less than 61

lbs, the arm may not fully lower under the weight

of the TV.

5. The minimum vertical space between the bottom of the wall plate (#AA) and the top of the

mantel (Mantel Clearance) will change depending on the depth of the mantel. Deeper mantels

will require higher vertical clearance to ensure that the TV and the mount arm have enough

clearance when raised and lowered. Refer to the table below to determine the required 

minimum vertical space.

If Mantel Depth is:

Less than 8” +5”

8”~11” +6.5”

11”~13” +8”

13”~16” +11”

TV height +12”

TV height +13.5”

TV height +15”

TV height +18”

Mantel Clearance Wall Space Height

Wall Space Height

mantel depth

TV Height

INSTALLATION 

Use a tape measure to determine the center point of the mantle. Mark the

centerline with a pencil or tape. 

Mantel Clearance



7

Be sure to drill into the center of

the wood stud. 

1 Wood Stud Installation Option

Determine the placement of the template by referencing the guide on page 6, step 5.

Installation 

Locate the Studs

Use a stud finder to locate the studs in your wall, then mark the edges of each

stud with a penci

STUDS

Use a bubble level to ensure straightness, then tape or hold the Template (#II) in the final

mounting location and drill 4 pilot holes in the locations that line up with the center of the

studs. Drill the pilot holes using a 3/16in drill bit to a depth of 2.7”.

To determine the height distance

from the mantel, reference step 5

on page 6.



10mm

8

8

To determine the height distance

from the mantel, reference step 5

on page 6.

Insert Concrete Anchor (I) 

68mm

φ10mm

2 Concrete/Brick Installation Option

Determine the placement of the template by referencing the guide on page 6, step 5.

Use a bubble level to ensure straightness, then ape or hold the Template (#II) in the final

mounting location and drill 6 pilot holes, all 4 corners and 2 in the middle. Drill the pilot

holes using a 3/8in drill bit to a depth of 2.7”.



9

3 -a

4

5mm

C1

C5

C3

Connect the Spring Arm (#CC) to the Wall

Plate (#AA) using the Bolts (#C3)as shown

here.

Position the Spring Arm left or right on the Wall Plate

as needed by attaching the spring arm in the required

location.

3 -b Optional: Adjust the Horizontal Position of

the Spring Arm

Hang the VESA Plate

5 Secure the VESA Plate

Hang the VESA Plate (#BB) 

on to the end of the Spring Arm.

Secure the VESA Plate to the end of the

Spring Arm using the Washers (#C1) and Nuts (#C5)

on the two lower bolts protruding through the end

of the Spring Arm.



10

6 -b

H
I

Wood Stud Mounting6 -a

H

Install the assembled arm to the wall using the Lag Screws (#H) and Washers (#H) as shown.

Concrete/Brick Mounting
Insert the Concrete Anchors (#I) into the drilled holes, then install the assembled arm to

the wall using the Lag Screws (#H) and Washers (#H) as shown.



11

5mm

7 8

9

10

Lock the arm

J

or

(A/B/C)+E/D/G

E
C2

C4

C4

Lower the Arm

Pull the spring arm down until it is perpendicular

to the wall.

Select the appropriate size mounting bolt (Select one size #A, B or C) and washer (#E, D, or G) for your display’s mounting holes

and verify the length of the VESA bolt is not too long. If you are unsure of the correct bolt size for your display refer to your

display’s user manual or contact the display’s manufacturer for sizing information. If necessary, use the included spacers (#C2)

between the mount and the screen as shown to adjust the length of the mounting bolt. Multiple spacers can be used in

combination to achieve the desired bolt depth. Attach the VESA Arms (#DD) using the selected bolts and tighten until secure. 

Do not overtighten. 

Lock the Arm

Attach the VESA Arms to the TV

Assemble the Crossbar 11 Attach the Crossbar (No Soundbar)

Insert the Arm Lock Pin (#K) through the holes

shown here to lock the arm in the lowered position

for easier access to hang the TV.

Assemble the Crossbar (#EE) by attaching the  Crossbar

Latches (#GG) over the bar as shown, then secure them

together using the Bolts (#C4) through both pieces into

the Nuts (#C4).

If a soundbar will not be connected to the mount attach

the crossbar at a height that it is close to the bottom of

the TV without being visible. Secure it to the VESA Arms

using the bolts (C6) and tighten them until secure.

C6



12

13

16

12

C5

C1

F

HH

C4sound bar

Attach the Crossbar (With Soundbar)

14 Hang the TV on the Mount Arm

Optional Soundbar Installation

15  Install the Safety Brackets

Attach the Soundbar

To connect a soundbar to the mount, attach the crossbar

so that it is below the bottom of the screen. Secure it to

the VESA Arms using the bolts (C6) and tighten them

until secure.

Hang the TV onto the horizontal supports of the mount arm,

ensuring that the 4 points of contact are all fully seated in

their hooks.

Attach the soundbar to the crossbar using the

bolts (#C4) or other bolts as identified by the user
manual of your device.

Install the Safety Brackets (#HH) using the Bolts (#F) in all

4 locations as shown here.

Attach the Soundbar to the bolts protruding from the back

of the crossbar using the Washers (#C1) and the Nuts (#C5).

Adjust the height of the handle as needed to accommodate

asoundbar or the screen. 



13

17

 Adjusting the Spring Arm Tension

“ + ” :  Increase Tension

If the arm raises on its own then turn the adjustment bolt toward the “ - ” symbol to decrease

tension until the arm stops at the desired position.

If the arm lowers on its own then turn the adjustment bolt toward the “ + ” symbol to increase

tension until the arm stops at the desired position.

“ - ”  :  Reduce Tension

90°

Release

Remove the Crossbar Latch

Keep the mount arm in this 90° angle when adjusting the spring

tension (detailed below.)

Adjust the tension of the spring arm until it stops freely at all
lowered positions.

Attention: 



If the arm raises on its own then turn the adjustment bolt toward the “ - ” symbol to decrease

tension until the arm stops at the desired position.

If the arm lowers on its own then turn the adjustment bolt toward the “ + ” symbol to increase

tension until the arm stops at the desired position.

14

17 -2

17 -3

8mm
M

+

8mm
M

+

Reducing the Tension

 Increasing the Tension



15

The Level of the screen can be adjusted ±5° by loosening the nuts on the lower back of the VESA plate

shown in the magnification bubble here, then adjust to the desired level and tighten the nuts back down.

The screen can be tilted -5° to +10° by loosening the

adjustment handle on the upper back sides of the VESA

plate shown in the magnification bubble, then adjust to

the desired tilt and tighten the handle back down.

The mount arm can swivel ±30°to adjust

to the desired viewing angle.

    

18

19

Tilt adjustment

-5 ~ +10°

Swivel ±30°

Level adjustment±5°

Level Adjustment

 Tilt and Swivel Adjustments



16

Cables can be run through the cable management

clips on the underside of the mount arm to prevent

the cables from hanging freely. 

Install the decorative Cover Plates (#AA-1) onto the top and bottom of the Wall Plate.

Note: Leave enough slack in the cables

to accommodate or the range of motion of the mount.

20

21

22

cable

Pull in the cover plates

100mm [3.9″]

10
0m

m
 [3

.9
″]

20
0m

m
 [7

.9
″]

52
7m

m
 [2

0.
7″

]

29
8m

m
 [1

1.
7″

]

680mm [26.8″]

203.2mm [8.0″]
406.4mm [16.0″]
609.6mm [24.0″]

34
4m

m
 [1

3.
5″

]

Ø8.3mm [Ø0.3″]

830mm [32.7″]Max
850mm [33.5″]

Ø6.5mm [Ø0.3″]

886mm [34.9″]

M
ove

Cable Management

Install the Cover Plates
+

1
0

°/
-5

°

UP

Down

250mm[9.8″]

65
5.

5m
m

 [2
5.

8″
]

145mm [5.7″]

570mm [22.4″]

73
5m

m
 [2

8.
9″

]~
98

5m
m

 [3
8.

8″
]

87
8m

m
 [3

4.
6″

]

87
6m

m
 [3

4.
5″

]M
in

~1
12

6m
m

[4
4.

3]
M

ax


